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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
<heTl ¢ XI
ARTS & COMMERCE
Hal T qiforsy
Time : Two Hours | [ Maximum Marks : 100
75T ¢ 5 g2 [ oI : 100
IMPORTANT

=| Read carefully the 'Instruction for Answering' given on the |

Answer Sheet and answer the questions as directed : ‘
| STTTH U7 kT qw ‘guw eifsa e @ R orgaw’ s @
| 93T 3T FRwrger v &

1. Who is called as the 'Father of Economics' ?

(1} Adam Smith (2) Kautilya
(3) David Hume (4) Alfred Marshall
‘Srdarer # s (frar) B @ed ¥ o2
(1) u=d fwe (2) Hifewy
(3) 3= =gH (4) HABhs HRRT
2. The law of Demand refers to - ' |
(1) Price-costrelationship  (2) Price-supply relationship

[3? Price-income relationship 4 ®Price-demand reIatjanship
Gi7 &1 FrEm Femr B o

(1) Hog-FT <4 (2) W“gﬁ'f =g

(3) HTT-ITT (4) T ey

P.T.0.
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3. Under disguised unemployment marginal productivity is :
(1} Egqual to zero
(2) Equal to one
(3) More than one
(4} Infinite
ff g2 IeE B srerls @R IOEES A ¥
(1) 9 & F=T |
(2) U & =SET
(3) wH H mE
(4) <
4. Economic causes of under development of India is/are :
(1} Markel imperfections
(2) Predominance of agriculture
(3} Lack of technical knowledge

{4) All of these

e F aren fase @ onfies HROT B8
(1) ST ST

(2) FW S

B i N " &l

() SugH T
(4)
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5. Which of the following factors of production is most likely to be

variable in the short run ?

(1) Land

(2) Labour

(3) Entrepreneurship

(4) Capital

FeT & 8 A8 SWET B RNE o § uRgdasiia 8§ 7

(1) o

(2) ==

{3) et

@) - G
6. If total utility is decreasing, tj'lﬁn marginal ufi]ity must be ;

(1} Negative

(2) Decreasing at an increasing rate

(3) Increasing at a decreasing rate

(4) Positive

e F AR gT W @, @ @ SeEtr e @

(1) e

(2) wedl & oY wed &8

(3) =l &% ¥ " g

4) 99

(5) P.T.0.
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7. Which one of the following is not the function of money ?
(1) Medium of exchange
2] Store of value
(3) Allocation of resources
(4] Money as a unit of measurement
forst % & @ YR B owE qET ¥ 7
(1) fafmg =1 Jreay
(2) 4¥° o IS
(3) HHEYAT oA
(4} T3 Y # g

8. The contribution of agriculture to India's economy is :

(1} Constant (2} Increasing

(3) Decreasing (4) None of these
ATy areferatar ¥ SR w0 AR .. B

(1) R (@) wegar §3T

(3) == B (4) g4/ Pk &

8. The National Stock Exchange (NSE) is located at :

(1) Mumbai (2) New Delhi
13} Chennai (4) Kolkata
T S SR FEl e 27

(1) g=2 o (2) w1 facell A
(3) ¥ H (4) FreTERT H

(6)
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10. The Reserve Bank of India came into existence on :
(1) 1st April, 1936
{2) 26th January, 1894
(3} 15th August, 1947
(4) 1st April, 1947
IRAE Rord a6 & wen g g2 7
(1) 1 &%=, 1936
(2) 26 wEdl, 1894
(3) 15 arreT, 1947
(4) 1 o1, 1947

n. WW#W“%%W”-Wﬁﬁmﬁmam
7

(1) fear (2) STH
(3) e | (4) Y
12. ‘@re’ & dfy fa=ie B o -
[1}‘-@4-31111?1‘ . {Q}E{+~3{F'|Er
(3) @1+ I (7)) @+ o
13. ﬁwﬁﬁfﬁmﬂ%aﬁﬁ-maﬂimaﬁg&ﬁm TETE 7
ma 2

@ @ -

7 s
L) P.T.0,
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14.

15.

16.

2 br

18.

Tﬁ*fﬂﬂﬁﬁﬁ% ey A B
(1) T ™ (2) =& 7H

(3) aveeeg ¥ (4) st ==

Brer & e F ST=E J& 8 o
(1) =R {2) =TT
(3) A - (4) A

R L L B e R R

(1) w199 - (2) TEE
(3) TR (4) TS

T qEy W eET B B fre oF 9= A EEA A
(1) =wead (2) "14aT
3) <% (4) aTAI%D

T - oo F g - F 8 gAkd i
o - o SC

(F) wol= a|d (A)  EEA

(m) wrwea uda (B) aral

(1) S fordaar  (C)  Weld @ A

) FHEE (D) erR-gre qemed

(1 % -0,9-B7-A49-D (2 % -D, " ~-C,7T-A,9-B
(3) %_B,aa-ﬂ,ﬂ-D,Er-c 4 F-D,@-C,T-B,9g-4A

(8)
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19. ‘Z% & 9 EFT & 3y B

(1) @&a w91 (2) aw ¥ B
(3) T = A (4) T BF
20. 9 + = = ditw Rea @i & SwEwr €
(1) el @ &
@ a @ T
21. P & & SF-81 9w &9 &
(1) STam= (2) =g
(3) I (4) araaiT
22 FF R aelt ¥ B a7
(1) ¥y (2) 3
(3] = (4) 7™
23.‘% T A SR AU A Rohed ¢ W @ F AT w6
(1) gua 2) $amrd

(3) g (4) &I

24, ‘BT & YT G 1 oard ¥
(1) ST T
() FTHEET FAT
(3) BT A FA
(4) FEES A T

o "
(9) PiT0,
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25.

26.

27,

28,

29,

30.

T B Ot Au-fEeli A8 H P ereia & 7

(1} T (2) ST
(3) =% (4) St

What is the plural of the word - Fungus ?
(1) Fungi (2] Fungesses

(3) Funguses _ (4} Fungsies

Fill in the blanks with appropriate preposition :

The sun sank ..................... the hill.
(1) above (2] up
(3) down (4} under

Choose the alternative that best expresses the following idiom :
Apple-pie-order

11 disorder (2] 1n atrouble

(3) in good condition (4) in a hurry
Fill in the blanks :

In Britain more people drink tea ............... g

(1) some coffee (2) More coffee

(3} no cofice (4) than cofiee

Which of the following sentence is wrong ?
1) We nave had enough training
(2) The radio broadcasted the news last évening
3y it rains, we shall riot go to school
(4) 1f you heal ice, it will melt

{10)



31.

35.

SET/17/20/XI{A)/(1)

Which is the correct passive voice of the sentence ? "People say
that he is honest.” '

(1) He is said to be honest.
(2) It is said that he was honest.
(3} He is said to had been honest.

(4) That he was honest is said by the people.

Which of the following is a distributive pronoun ?
(1) Who (2) What
[3) Some (4) Yourself

What is the meaning of the word - INSOLENT ?
(1) Insoluble (2] Maim

(3} Rude ~ (4 Insouciance

A type of grey stone that comes from volcanoes and is very light in
weight is called :

(1) Pumice (2) Revile

(3) Fauve (4) Pectin

The study of how people vote in elections is called :

(1) Electorate | (2] Referendum

(3) Psephology (4) Electoral psychology
'The wind was the angry witch'. 'Witch' here is a :

(1) Simile {2) Personification

(3) Metaphor (4) Metonymy

i e P.T O
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37.

38.

40.

41.

Shylock' is a character in which of the following text ?

(1} Macheth (2] Tempest

(3) The Merchant of Venice (4) King Lear

What is the synonym of the word - DISDAINFUL ?

(1} Contemptuous (2) Frantic

(3} Distrustiul ' (4) Conspicuous
Smoking is injurious to health, 'Smoking' is us.ed here as a !
{1) Counditonal

(2) Determiner

(3) Gerund

(4) Modifier

Which is the synonym cof the word - OPULENCE ?

(1) Luxury (2) Lascivious

(3) Penury (4) Puerile

Who was the flag bearer for India in the Rio Olympic (2016) ?
(1) P.V. Sindhu (2) Saina Nehwal

(3) Abhinav Bindra (4) Sakshi Malik

T s (::zbla} # I W ForIEEh A AT 7

(1) e dro fFg () & JzATT

(3) sfeEg fae (4) W Ao

(12)
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42. Who is the present governor of Reserve Bank of India ?

(1) Raghuram Rajan

{3) Manmohan Singh

(2}
(4)

Urijit R. Patel

D. Subbarao

i o S § adum 1ghT o ¥ ?

(1) YA T
(3) w=HrEs fie
43. The currency of Japan is :
(1) Yen
(3) Pound
S &t gET B o:
(1) 39

(3) 49r3vs

(2) Gﬁ*ﬂiﬂﬁb g3

. (4 3o gERE

(2) Dollar

(4) Dinar
(2) @
[4} - iiics

44, The first chief minister of Uttar Pradesh was -

(1} Jai Prakash Narayan

(3) Govind Ballabha Pant

I SR % me qernt ¢

(1) /9 FFsr AREe

(3) MR= Tw=m™ o=

(13)

(2) Kamla Pati Tripathi

(4) C.B. Cupta

(2) . FHEgRy By
(4] #Hre dlo il

P16
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45. In India The Nationai Voters Day' is celebrated on :
(1) 22, January
(2) 23, January
(3} 24, January
(4] 25, January
g F A dex Ry’ B Ty # oo 2 7
(1) 22, s=ad
(2) 23, s
(3) 24, FAIEL
(4) 25, STE0
46. Every rational number is :
(1} A natural number
(2] An integer
(3) A real number
[4) A whole number
(1) ©& Hmplas HeEar
(2) T g
(3] U awfas @E

(@) PO HE
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47. What is the difference between compound interest and simple

48,

interest for 3 years at a rate of interest 10% per annum for
Rs. 1000? |

(1) 31 (2) 30
(3} 32 (4) 33

To 1000 % 10% I =47 & =X & 3 a9 & whgfy sy our
TR & AR R '

(1) 31 2) 30
(3) 32 ' . @4) 33

The area of the shaded region 1s :

7 cm
7 em
(1) 12 cm? (2} 14 cm?
(3) 12.5 cm? (4) 13 cm’

WHIERT | Y SEEA §

(1) 12 & (2] 14
(3) 12.5 &1 (4) 13 &

Lo
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49. If 17+ 2% + 3% + + @% = 2025, then (0.11)7 + {0.22)° +
' .+ (0.99)° will be ;

(1] 0.2695 (2) 2.695

(3] 3.695 (4] 0.3695

gfe 12+ 2%+ 3%+ s 93}- 2025, ar (0.11)° + {d.zg]ﬁ -
. +{0.99) #rm .

(1) 0.2695 | (2) 2.695

(3] 3.695 (4} 0.3695

30. Through two points :
(1] no line can be drawn
|2) a unique line can be drawn
[3) more than one line can be drawn

(1) None of these

v 41 fag @, e
H}@g‘f%ﬂ?@ﬂ‘e‘fﬁﬂﬂiﬁﬁ
Q) TF i Y &9 il B

i

4) gﬁ'ﬁ 9 Py e



51.

52.
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In 1784 William Jones founded 'Asiatic Society' in :

(1} Bombay (2) Madras

(3) Allahabad (4) Calcutta
1?84§aﬂﬁmﬁ%‘mﬁﬁﬁﬁ'kﬁfmwaﬁﬂﬁ
dr 7 n |
(1) W= (2) wETE

(3) FEmeTEE (4) T

Who among the follawing was not moderate ?

(1) Firoz Shah Mehta (2) S.N, Baﬁerjee |
{3) Bal Gangadhar Tﬂak (4} Go-pal Krishna Gokhale
9 A FH RAGRN F@T e ?
(1} e e dedr (2) THo UHo sl
(3) am s R (4) Mo For A
33. Who was the founder of 'Young Italy' ?
(1) MUSSG]:iJ‘li ~ (2) Bismarck

(3) Mazzini (4) Hitler

‘T geedy @ FmteEr #iF o ?

(1) e 2) B

(3) Al (4) Rewy

(17) PTG
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54. From which country renaissance started ?

(1} Portugal (2) England
(3) France (4) Italy
QSRR 1 ST e A9 & geT ¢

(1} gt - (2) §avE
(3) whIE (4) gesi

55. Champaran Satyagraha was mainly associated with :
(1) Tea | (2) Indigo
(3) Cotton ' (4) Wheat
FETIOT AT I HEe o
(1) =3 & (2) e |
(3) HaTE @@ TEa
56. Who laid foundation Young Bengal' .in India ?
(1} Raja Ram Mohan Roy |
[2] Swami Vivekananda
(3) Ramakrishna Paramhansa
(4] Henry Vivian Derozio
oy dE @ e wa # R w17
(1) ¥ IH Aigq 19
(2) w@rh AT



57.

58.

29,

SET/17/20/X1(A}/(1)

When did the first cotton mill come up in India ?

(1) 1853 : (2) 1854
(3) 1855 (4) 1856
ARG H g gl R a9 ey ga ?
(1} 1853 (2) 1854
(3) 1855 (4) 1856

Name the place where the resolution for complete independence
was declared :

(1) Calecutta (2) Bombay

(3} Madras (4) Lahore

IH TG H A AR SEN GO RIS A G g -
(1) e | (2) ==

(3) =T 4) R

Which pair is not correctly matched ?
(1) Kalhana - Rajatarangini

{2} Jayadeva - Gitagovinda

(3] Chandbardai - Prithviraj Raso

(4) Kalidas - Kathasaritsagara
Freafafas & far er uf 7 &7
(1) =BT - oI

(2) STERT - Amies

(3) weETErR - TR g

(4) R - BT

-‘“‘i 19] '
| N )
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B0. Who created the very first image of 'Bharata Mata' to spread
nationalism ?

(1) Jawahar Lal Nehru
(2} Rabindranath Tagore
(3) Mahatma Gandhi

(4) Bankim Chandra Chattopadhyay

TSER @ yafld e 8 AR AEr & off @ wdwerd e
=TT ?

(1) =EmEY & Jee
() = A T
(3) HewHT et
(4) " o= ograrEEs
61. Who is the author of the book 'Gulamgirt’ ?
{1) Jyotirao Phule
(2] B.R. Ambedkar
(3) Ishwarchandra Vidyasagar
(4) Periyar
oy et T g7

(20)



62.

63.

SET/17/20/X1(A)/{1)

[n which year kheda Satyagraha took place ?

{1) 1914 | (2) 1915

(3) 1917 (4) “ 1921 |

Sl qwE Rrg o § AT 7

(1) 1914 (2) 1915

3) 1917 (4) 1921

In which year khilafat committee formed in Bombay ?

(1) February, 1919 (2) March, 1919

(3) April, 1919 (4) May, 1919

mﬁﬁﬁmmﬁﬂﬁﬁmrwﬁma%mwm?
(1) wwadt, 1919 (2) #rd, 1919

(3) ==, 1919 (4) =d, 1919

Kanishka established hig capital at ;

(1) Magadha {2} Purushapura
(3) Karnal | (4) Ajmer

T 5 FGN T B wenfog 2 ?

(1) =g (?) gewgY

e,

(3) HAE @) s

(21) P.T o
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65. When did Germany withdraw herself from the 'League of Nations’ 2
(1) 1933 (2) 1934
(3] 1936 (4) 1939
TR X g TEET A @9 W AT w Rl
(1) 1933 (2) 1934
(3) 1936 (4) 1939
66. On which river Indo-Pak Bagalihar in located ?
(1) Chenab (2) Jhelam
(3) Ganga (4) Sutly

TR e O fee ad g Rea ® 7

(1} === (2) e
(3) T (4) HAGA
§7. Which of the following river has the largest water arca ?
(1) Mahanadi (2) Narmada
(3) Krishna (4} Godavari

ﬁmﬁﬁmrﬁaﬂaﬁw%ﬁm%?
(1) T (2) e

@) =T (4) Maad
(22)
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68. Project tiger was launched in :

89,

(1) 1973 2) 1974

(3) 19?.5 | (4) 1976

T SR B e o 7

(1) 1973 (2) 1974

(3) 1975 B 4) 1976
Which type of soil is useful for cotton production ?
(1) Alluvial soil (2) Red soil

(3} Black soil ~ © (4) Laterite soil
FATH FES ® mui H Be-ar T Suanh S T 7
(1) e a1 (2) T W

(3) =t gaT (4) ,Qewge ga

Which state has the largest area under permanent forest 9

(1} Punjab (2) Haryana
(3) Uttar Pradesh | (4) Madhya Pradesh
e o @ el a9 2 galeg &7
(1) 95 | (2) #Rarn
(3) I WA | (4) A= HA9r
(23)

P.T.0
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71.

72,

73.

74,

'Sericulture’ is associated with ¢

\1} Dairy (2) Flower

(3) Fishery (4) Silk production
Ty Frad gt 37 |

(1) 39 TR 2) T E

(3) wee qETA | (4) TerA T

Which state is the largest producer of rubber in India ?

(1) Uttar Pradesh (2) Karnataka -
(3} Kerala (4) Tamil Nadu
qT & e ot & el T 8

(1) S meY (2) HATEE

(3) F3= (4) TS
Tungabhadra is a tributary of ..............o. river.
(1) Krishna (2] Kaveri

(3) Godavari (4) - Narmada
L i HEEE A4 €|

(1) F=0 (2) ey

@) el () e

Which one is the shortest day in southern Hemisphete ?

(1) 22, December (2} 21, March
(3} 23, Septamber | (4) 21, June

ﬂwmﬁﬂaﬁsﬁaﬁﬁzﬁ?ﬁr%?

(i} 20, PR (2) 21, "

@) 23, fEEa (@4) 21, 5

{24)



75.

78.
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BEone Is B M oovneommees
(1) Troposphere (2} Stratosphere
(3) Exosphere _ (4) Tropopause
(1) sfvwEv=w (2) HHATIHEvEA
@) W @) i
'MAHAWAT is associated with ...........
(1) Retreating Monsoon (2} South-West Monsoon
(3) Summer Season _ (4) Western disturbance
WA ........... # Tl ) ~
(1) el A 2) sferr-oReE g
(3) A7 =g (4) SRl Qe
Choose the non-ferrous mineral :
(1] Bauxite | (2) Manganese
(3] Chromite (4) Iron ore
Helle @i g |
(1) Hfemge (2) HersT
(3) wET (4) e sTawE
By how much is the time of Varanasi ahead of IST ?
(1} 2 min. 3 sec. (2) 5 min.
(3) 1 min. {4) 3 min. 3 sec.
ATl H TR AT T TG & Rty oy 7
(1) 2 frfe 3 G378 2) S Fwe
@) 1 fme (4 3 PR 3 Asve
(25) |

P.T.0O
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79. The western coastal strip south of Goa is referred to as :

(1) Ceoromandal (2) Kannad

13} Konkan {4) Northern Circar
My & aigror § T afees a9y 9s el 2 |
(1) HIEEesa {2} H=E

(3] RO () I I

80. Gandhi Sagar dam is constructed on :

(1) Mahanadi (2) Chambal river
(3) Tapti river (4) Sutlyj river
Tl WA AT L gy fFiftfa 21
(1) 9EreE (2) ==d el
(3) =Tt A= (4) wags o
81. ‘Panchasheel agreement signed in 1954 was between .............
B vereviriernnes »
(1] India & Pakistan | (2) India & China
(3} Trdia & Nepal i4) India & Bangladesh
Bpe &) el & < dmslier afw 1954 F I g% 7
(1] “a =i TR (2) wrre AT AT
(3) WRA S AUk (4) |rE AR areR

82. Wpo was the Chairman of Objective Resolution Commiittee of
Indian Constituent Assembly ?

(1) Mahatma Gandhi (2] Sardar Patel

(3) Pt.Jawahar Lal Nehru (4) Dr. Rajendra Prasad
i Ehram @ B e aftfa & e e & ?
(1) e A (2 ETET TE

(@) to SR A7 (4) Elo = TOR

(26)

.
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83. 'Muktivahini’ fought for the freedom of .............. :

(1} Tibet (2) Jammu & Kashmir
{Si East Pakistan/Bangladesh (4] West Pakistan/Pakistan
‘G’ & X ... @ e B R asE w2
(1) FEw (2) =g ST FHR
(3) qdt wiferEar e (4) afgepft arftke afEReT
84. Borlong Award is associated with :
(1) Agriculture (2} Religion
(3) ]ndustryL {4) None of these
AR ERR e ¥
HY § 2) =9 4
(3) IR | (4) 579 | 3iE T
85. Under which article of Indian constitution Right to Equality’ is
explained ?
(1) Article 14 - 18 (2) Article 23 - 24
(3] Article 19 - 22 (4) Article 32
R SR B e orede § qar wr iy affg ¥ o7
(1) =% 14 - 18 . (2) ST 23 - 24
{3) aAg=_T 19-22 . (4) org=sT 32
86. Who chairs the joint session of Lok Sabha & Rajya Sabhg ?
(1) Prime Minister (2) President
{3) Lok Sabha Speaker | {4) Home Minister |
&ﬁfﬁwqﬁﬂﬁrwﬁ?ﬁiﬁﬁmﬁmﬁﬂ%amﬁqm%?
(1) s (2) TRy -
(3) EHEAT - (4) Tesh

a

el P.T.0.
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87.

88.

89.

90.

Who among the following was not associated with Non-Alignment
Movement (NAM) ?

(1} Tito (2) Nasir (3) Nehru (4) Stalin
Frer & § #19 qefROy A § et 787 A v

(1 & (2) =Y (3) Az (4) Eﬁ%ﬁ.

National consumer Day is celebrated on .............. ;

(1) 24th December . (2) 25th December
(3) 26th December (4) 27th December
Ry SUsiR R ............. @A ST B0

(1) 24 BaE=Ey (2) 25 R

(3) 26 RE=x (4) 27 REeER

How many members are nominated by the president for the Rajya
Sabha ?

(1] 10 @ 11 @ 12 @) 15
ol TeEEeT $ R e el B AHea w5 © 7
1) 10 Q) 11 3) 12 @ 15

Right to Life' is recognized under which article of [ndian
Constitution ?

" (1) Article 17 (2) Article 18

(3) Article 19 - (4) Article 21
Wﬂﬁw&%ﬁmmﬁﬁ‘mﬁﬁﬁwaﬁﬁw'sﬁﬁﬁﬁﬂ
3K

(1) g 17 (2) orgeaT 18

(3) wrge=E 19 (4 STg=BT 21

(28)
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94.

95.

SET/17/20/X1(A)/(1)

Which of the following countries has highest rank in the. Human
Development Index ? '

(1) Sri Lanka {2} Bangladesh (3) Pakistan (4) India
A fome gewiE ¥ W @ w39 o 27
(1) s (2) siTEmRET @) wieseds  (4) wa

National Rural Employment Guarantee Scheme (NREGA|] was
launched in the year :

(1) 2004 (2) 2005 (3) 2006 (4) 2007
Wﬂﬁﬂrwwfﬂw{ﬂ%ﬂ)ﬁmaﬁmgﬁ?
(1) 2004 () 2005  (3) 2006 4) 2007
Who is the author of the book 'Jungle Book' ?

(1) Jane Austen ' (2) Miltén

(3} George Elot (4) Rudyard Kipling
S gF e e 3 7

(1) &7 ey (2) P

(3y I gferae {4) ©SUE Ry

In Indian Constitution, the concurrent list has ...... subjects.
(1} 45 . (2) 46 (3) 47 " (4) 48
AR T B et gl & L Ry ¥

(1) 45 2) 46 (3) 47 (4) 48
There is no official retigion for ............... . :
(1) India (2) J_F_'g_hki_s:tan (3) ST Larika @) Nepal

............ & PHE TR 9T g _
(1) = (2) TR (3) shatwr 4 e

(29)
PT O
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96.

o97.

98.

99.

100.

How many language are recognized in the VIIT™" schedule of Indian

constitution ?

(1) 22 (2} 23 (3) 24 {4y 25

T W @ enedt orgaet f Reaeh Wil AT S
2

s

——

1] 22 (2) 23 (3] 24 (4} 25

Which of the following is not essential element of state ?

(1) Land (2) Democracy (3] Population (4) Sovereignty
Pt § @ oY @ v o 78§ 7

(1) € (2) e (3) e (4) HIEE

Which of the following countries has onc party system ?

(1) U.S.A. (2) England (3) France (4} China
B B G Tg &Y A wEEE A € 7

(1) <A (2) TS (3) wiE (4) o=

Which of the following is not a Constitutional body ?

(1) Election commission (2) Planning commission
(3} National Advisory council (4) Interstate council
A | B wiets Fam 728 E 2

(1) YAE SEn (2) FISAT AT

(3) T a4y (@) s O

Which of these countries is not a permanent member of security
couricil ?

(1) Russia (2) China (3) France (4) Germany
;ﬂﬁﬁﬁ-ﬁ%ﬂig{&ﬂqﬁq@muﬁwwé? |

(1) =4 (2) 9 (3} TP (4) R

(30)



